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331k P OA( 25301 A3 23280 m w2 2518 I E3- 2544 7 %133)54 57
40819 R A( 945”*;%“%;34 949k 111" =3 901E K " hy #i 20 946k B 2 393)55. 14
SI71  f A( 494575 " %3 43600 % m=2- 43507 pE a2 434K i $2)55.18
6[41+ W C( 141w w2 745;{%”@@2 1475 w2 7466 K 5% 2) 56. 49
[248]
1[3]°F 45 i 4 <1657Eﬁlﬁ“w%2 16601:#1:{%%722 165245 & w3 16533{’ 07 Fn 753)56. 74
20214 B A( 88471 #izs2 859/ ik 852?@}/’%@%3 853477 i3 3)56. 91
3[61%F H % A( 304{5 & z—;z 303”}%‘3’% ;@ugéZ' 305 th 0 w2 301”*;%%{@2) 7.39
417110 Bk A(M81ER w2 184% 1 az;q;znseiji**é{ga 721185/, é;”m)@ 2)59. 95
5811 W DI 744;%%}5”@§2< 719{5& (;ft,% 7480 e T A2 TA9RS A 4k 2 2)1:01.18
[51k B A( 572w fE 3 5T0NEF [N 2993 575&;’ éﬁ“ 3 52601 5 Wy 5 2) KAE
(411 sk B( ) Ri5
4y
s 3
1+ ® A 51.76
29T B A 53.70
3k PE A 54.57
4 A 55.14
5 & A 55.18
6+ W C 56. 49
T % %A 56. 74
8 & B A 56. 91
TF2F EGSEk R
1061 28156 K" g2 (K ) 1m30
20 4] 1365 =" % 5z 2 (T B5%) 1m20
3[ 5]1184% i e s 2 (11 ) 1m20
40 1] 7465+ F w2 (- R) 1m20
5[ 3111815 A& 1 32 (L %) 1m20
6 2] 74715 &y m 2 (- R 1m10

T¥3F ESBk R
10 4] 713%” o 3 (+ ) 1m42
2[ 5] 156j<J$ 7;: ;3 (LT B5) 1m35
30 2] 94685 =" 2 3 3 (h J5) 1m30
41 3] 580{5/:% 43 (K ) 1m25
5[ 1] 583431 By 3 (K #F) 1m20

[ 6] TNE A" 3 =3 (- RN K5

TF 15 FEMRBE RE

1[13] 243}&”1{@}“ % p 1 (K PE) 3m82 +1.2
2014] 244355 %" g = 1 Ok PE) 3m75 +1.5
3L 4l1241 =9F g5 w1 (h B) 3m72 +2.0
4[15) 110’%%65%*19: 1 T B 3mdl +2. 1A L
50 7] 7065 4 w1 (+ ) 3m40 +3. 17352 3m34 +0.7
6[ 2] 708*%@”2 ¢i %1 (+ ) 3m25 +0.9
70 6] 7055 = "z k1 (- ) 3m22 +3.1/8EREEAL
812] 246% 1% "% & 1 Ok PE) 3m19 +3. 4ARERA L
[ 9] 2417 ' %5 & 1 (K VE) 3mi13 +3.9NERERERT L
[ 3] 7091 " we 7 1 (+ ) 3m06 +2.0
[ 5] 707%;*%%; w1l (+ R) 2m99 +0.5
[ 111229200 B2 26 1 (b ) 2m91 +1.3

13



I LG T

[10] 242 Ff & = 1 (K FE) 2m77 +3. 12882 2m43 +0.8

[ 8] 240%}%” T 71 (K PE) ERERAE L
[11] 245/ & s 21 (K 7 Ri5

ZF 25 ENRBE RE

1015] 2321 @ 1t 2 2 (K PE) 4m43 +1.0
2[14] 526/ w5 w5 = 2 OK BF) 4m05 +2. 1458 3m91 +1.3
3[13] 1387 # = 7 2 (L B) 4m04 +2. 24352 3m95 +0.6
4[12] 75001 s #i % 2 (+ ) 3m95 +0.9
51111187/ " 22 15 2 (1L %) 3m83 +2.0
6L17] 43173 Wit 2 (% ) 3m77 +2.0

709] 1414 M #we2 (h )
8101166045 & ¢ & 72 2 CF & H %)

LA

3m72 +2. 23EBEERAR L
3m69 +2. 2 3EREEERTE L

[ 411186/ @ & 4 2 (1L %) 3m68 +1.1
[16] 140K & w2 (U 1) 3m60 +2. 44NERERERM L
[ 8111924 & 4 %22 (1L #%) 3mb8 +3. 4458 3mb56 +0. 8
[ 7] 7494 & 4 =2 (+ W) 3md5 +0. 6
[ 5116593 #  # % 2 CF &5 f %) 3md0 +1.2
[ 1] 74877 " w2 (+ ) 3m39 +2. 27052 2m98 +1.
[ 2] 5218 &  #i 72 (K #F) 3m36 +1.0
[ 6] 525 K4 Bp ik #i 2 (K #) 3m19 0.0
[3) 125k w2 (k ) R
TF 35 FEMEEk R
109] M35 3% 3 (+ ) 4m38 +2. 9NFEERERA L
20 7] 5725 w4 3 (K 5F) 4m27 +1.4
3[ 8] 254% ¢ % 33 (K PE) 4m19 +2. 17288 4m07 +0.7
40 5] 51T Fzdn 3 (K B) 3m84 +2.0
5[ 4112925 5 % bt 3 (pf 1) 3m73 +2. 52082 3m71 +1.
6[ 6] 859, i1 23 (& fiE) 3m73 +2. 44358 3m70 +1.
70 3] 8507 & " 1 3 (& fin) 3m42 +1.1
8[ 1] 941 i %3 (F J5) 3m33 +1.0
[ 2] 57430 " mowe 3 (K ) EERE L
TF25F EAx[2. 721kg] R
10 6] 43078 Al 2 (% %) 9m08
20 5] 43731 i % 2 (% 1) Tm65
3L 2] 1191 L Fie 7 2 (L 3%) Tmdb
41 3] 886 F K a2 (& fiE) 7m08
5011 5220 % 0 2 (K #F) 6m80
6[ 4] 7445 5 0 22 (- R) 6m40
¥ 3 fafix[2 721kg] R
10 6] 352 |1 w43 G H ) 9m39
2[ 311204~ # w3 (w ) 9m04
3[ 4] 85341 T Rk 3 (& fiEL) 8m58
A7 2] STI% T s 23 (K ) 8mb5
50 1] 73 5 % f 3 (& R Tml T
[ 5] 711 5 # =3 (4 R) Ri5

ZF 3F M#E[1.000kg] REs

Y~ T

10 3] 2534 1) # 3 (K

7F) 21m86

20 1] 352 |1 s 3 B A #)17m23

) a7

3[ 2112944 o 3 (f

B9) 14m40
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